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QUESTION 1

Which of the following statements regarding lot size procedures is correct?

A. The lot size quantity can be influenced using a minimum lot size and the rounding profile.

B. If a make-to-order production strategy is used, only the lot-for-lot (exact) lot size can be applied.

C. If along-term lot size is used, procurement is conducted with a long-term perspective.

D. The procurement quantity of a lot size procedure can be specified using a safety time period profile.

Correct Answer: A

QUESTION 2

You want to produce a finished product only when it is requested by a customer order in make-to- order production.
However, all assemblies need to be procured beforehand.

How can you fulfill these requirements in SAP ECC? (Choose two)

A. Use strategy 30 (production by lots) for the finished product and strategy 70 (planning at the assembly level) for all
assemblies in the bill of material.

B. Use strategy 40 (planning with final assembly) for the finished product and strategy 70 (planning at the assembly
level) for all assemblies in the bill of material.

C. Use strategy 50 (planning without final assembly) for the finished product and no strategy for all assemblies in the bill
of material.

D. Use strategy 20 (make-to-order production) for the finished product and strategy 70 (planning at the assembly level)
for all assemblies in the bill of material.

Correct Answer: CD

QUESTION 3

An enterprise wants to use SAP ECC requirements planning together with the NETPL procedure (net change planning
in the planning horizon). The planning horizon should be set equally for all materials by default. However, some
materials need to have a different planning horizon. What procedure do you recommend for setting the planning
horizon?

A. Set the planning horizon in the MRP groups in Customizing and assign variant entries via the plant parameter
settings.

B. Set the planning horizon in Customizing using the plant parameter settings and assign variant entries via the MRP
groups for the corresponding materials.

C. Set the planning horizon in the MRP groups in Customizing and store the variant values in the material masters for
the corresponding materials.
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D. Set the planning horizon in the plant parameters in Customizing and store variant entries in the material masters for
corresponding materials.

Correct Answer: B

QUESTION 4

You maintained the planning strategy group 10 (make-to-stock production) in the material master (SAP ECC) of a
material. For the coming months you have planned requirements with requirement type LSF (derived from the main
strategy 10). Now, you want to change the requirement type from LSF to VSF (in accordance with planning strategy 40,
planning with final assembly) for requirements in the existing production plan.

Which of the following statements are applicable in this case? (Choose two)

A. You can enter the strategy group 40 in the material master and change the present requirement for the product
manually in the production plan.

B. You must change the requirement type for planning strategy 10 to VSF in Customizing. The requirement type for all
existing requirements is then changed by the next planning run.

C. You can change the strategy group from 10 to 40 for the existing production plan in the material master, and the
requirement type for all requirements is changed automatically.

D. You can enter the strategy group 40 in the material master, but the requirement type is not changed automatically for
existing requirements.

Correct Answer: AD

QUESTION 5

Where in the SAP ECC system can you define production versions?
A. In the bill of material

B. In the work center

C. In the material master

D. In the routing

Correct Answer: C

Latest C_ TSCM42_65 C_TSCM42 65 Exam C_TSCM42_65 Braindumps
Dumps Questions

Latest C_ TSCM42 65 Dumps | C_TSCM42_65 Exam Questions | C_TSCM42_65 Braindumps 3/3


https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html
http://www.tcpdf.org
https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html
https://www.leads4pass.com/c_tscm42_65.html

